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' Métodos de resolucao de sistemas 2x2 .

1) MULTIPLICAR AQ LINYAQ é ) ?UB?TITUICAO ‘

1) COMAR 0U
QUBTRAIR LINUA?

4& {} . x+y=28(l)
x+y=8 (I {3x+2y=13 {-2) {2x-y=7(ll)
5 {Zx -y =7 (1) 2x -3y =15 .(3) Isolando X em (l):
— . {-Gx -4y =-26 (1) X = 8-y
x=15=5 6x -15y =45 (1) Substituindo em (ll):
3 19y =19 2.(8y)-y=7
Substituindo em (l): y=-19=-1 -9y =
S+y=8 e y =.:9_.= 1
y=8-5=3 Substituindo em (l): - -9
-6X +4 =-26 ntao:
S={(x,y) = (5, 3)} X=-26 -l =5 x=8-1=7
-6 S={(x,y)=(7,1)}
% S={(x,y) = (5, -1}
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